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30 Question 1- P, Q and R can do a work 1n 20 days, 15 days and

18 days respectively. They work alternatively starting from P
followed by Q then R for 15 days. The remaining work has
been done by R alone. In how much time total work was

completed.

I 1- P, Q 3T R Tsh i ohl shHs: 20 T, 15 feq et 18 e d
L Fhd ol o Gl dehicdeh & 8 P H Y& Fd §T 3N I8k 18 Q §
ST B 15 a1 o [T 318 shid 21 219 33l R T 3ehed foham T
2| T Tl Toheh EHE | T g

A. 18.5 days
B. 19.5 days
C. 20.5day

‘*D./ 17.5 days
E. None of these
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Question 2- A person bought an article P at cost Rs y and

30 marked 1t 30% above the cost price and sold 1t for Rs 5400. The
marked price of article Q 1s Rs 1000 more than that of article P,
A. Rs 4000 while selling price of article is Rs 600 more than that of P. Find
B.  Rs 4500 the cost price of article P if the article Q sold at 20% discount.
C. wRs ooty T 2- Teh Ak o Teh 9% P I y 99 H TIaT 371 36 T T I
D. 73508 T 30% 3ok SAfehd foram TR 39 5400 T9 1 &1 {1 a%d Q o
E. NQge/(YfThese ¥

3fohel e & P € 1000 T ek &, STelioh & ohl forshal 7o P
| 600 &9 AT 2| Al TE] Q 20% TE UL SI=H STl & 1 ] P A

S Hd T ShifSTl
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Cpe [0 13 A
(P)= 3 9400 ‘l(;l +1000=< HZiOO

VH’/& k X 50
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30 Question 3- The income of P and Q are 1n ratio 3:2. P spends

two-third of his income and expenditure of Q 1s Rs 2000 less
than his income. If saving of Q 1s 25% more than that of P.

Expenditure of P 1s what percent of expenditure of Q.
9% 3- P 3 Q 3hl AT AT JATUTT 3:2 | P 37U 311 1 S1-fers

(N

@< AT § AT Q ohT 3 ITh! 3T & 2000 T A 7l Afe Q
S P hl s=id U 25% AT 7, al P 31 599 Q o o7 &l {ohdl

gfaerd 22

A. 133.33%
B. 233.33%
C—266.66%
D. 33.33%

E. None of these @




5& = 23(‘(23*-20“9 o §)

; K
(Q:'ZOOO

SP S Ii




@ 30 Question 4- A boat goes 234 km downstream 1n 9 hours. If the

0'\‘\ speed of boat increased by 25% in still water then it covers 150
\9‘\3 " km'in 15 hours. Find the speed of boat.
S 4- Teh 919 9 B¢ H 9T o ITThe 234 foreft STt 81 Afe WFIK%

?

T A1 6T T 25% ¢ ST %cu I8 15 8¢ 150 %ﬁaﬁaﬁwq@g
@ R4 a3 oh{dl%hllol?ﬁﬂﬁslﬁﬁﬁlﬁl

A. 30 km/hr

R j/ 2 = B 3 6 B. 20 km/hr

LCORS 26 \—(l) B - KX/L@@ C. 40 km/hr

| DRINE, - ,SrO\ % D. 50 km/hr
\/\} —{| [) /2/ E— None of these







30 Question 5- The simple interest on a sum of Rs y+2000 at 10%

per annum for 6 years 1s equal to the@mount receivedon Rs y

C’/&/ at 60% per annum compound interest for 2 years. Find the value

of y.
T 5- y + 2000 TG I TRT I 6 I b [T 10% Tfd a9 hl X 9

6©°/O ‘QL?;X HTIRYT TS, 2 81 <k fTT 60% ich I Fshdf, AT 9 y 9 ITH
T3 o S 7] y T AT 1 i)

|56

A. Rs 1200

A= QS6Z B. Rs 2400
il C. Rs 3600

g D. Rs 3000

—E— None of these







30 Question 6- The ratio of income and expenditure of a person is

6:5 . If his income 1s increased by 25% and saving increased by

40% percent then find ratio of his previous and new

expenditure.
% 6- Teh ATk ohl 11 S S T ST 6:5 7| AT ITehT 3T H

25% i fg BIell & ST s=1d T 40% Ffcrwra i Jig et 2, O 30k
et I U 543 T AT 1 hi TS

A. 5:6

B 211,:23
“c— 50:61

D. 40:61

E. None of these @







30 Question 7- The income of A 1s Rs 20,000 and his expenditure
1s Rs 16,200. If his saving increased by 20% and income

increased by Rs 2000. Then find percent increase 1n his

expenditure.
T 7- A shl 3T 20,000 9 2 3 3HHT =TT 16,200 T4 2| Il

36 sherd H 20% <hi Jfg Il & X 3T H 2000 T T Jhg Tret
2. A1 3Uoh =33 H fard i 1a shifsr|

12.1%
17.7%
7.9%

1. 1%

(E— None of these @
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30 Question 8- Mixture ‘A’ contains 80% alcohal and rest 64 litres

water. Mixture ‘B’ contains 144 litres alcohal and rest 55%
water. When two mixtures are mixed, then find the ratio of

alcohal to water 1n the resultant mixture.

T3 8- TSI 'A' T 80% SAcehiedt 3TN AW 64 et gt 8| fysror ‘B
T 144 ST Ueshigd 3 AT 55% T 81 ST 7 {92101 ahi forerman
ST &, 1 GROTTHT 2107 § STeehiged S ITHT T STUTd J1 b 15|

—x— 5.3

B 4¢3
Cn o 3
D. 11:3
E

None of these @
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b U3 Question 9- p*—0.5p -39 =0
g-1550+60=0 5 i
q2-15.5q+60=0

P>q
P<q
P<=q

p=q
P=q or relation cant

be established
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Question 10- p* + 8\]~p @ 0 ¢
F<€

3¢ +27q+60=0
51
P>q CL ‘f’qCL"F%O:O
P<q

pP<=q

p =g
P=q or relation cant

be established

R




Question 11- p* — 16p + 63 =0

< /g( ) ¢ —20q+ 100 =1
A. P>q
yEAC _B- P<q

C. p<q

‘;F<7/ D. p=q

E. P=q or relation cant

be established




Question 12- The average score (runs/match) of A
before the start of World Cup was 35. In the world
cup his total score was 355 runs.
Find the Tofal number of matches played by him till
date, 1f his new average after the series 1s 37.5.

T 12- forg 9 & BH € 98 A 3T STHI Ehi
(TT/H=T) 35 ATl 6 Hell o forg o9 H STehT el TR 355
T 1| IS G o oG ST 4T 3716d 37.5 7, al
TSI Teh 38ch R Ec TTT HT shl el {1 HTd

EAISD]
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Question 13-There are five consecutive even numbers. Each number

1s multiplied by 2 and then 3, 4, 5, 6 and 7 1s added to first, second,

third, fourth and fifth number respectively. The new average of the
five numbers 1s 150% more than the original average. What is the
largest number?
\)K 3 T 13- UT ShANT §H @IS & Tcieh S&AT <Al 2 H 0T fohAT ST & AN
W\UG‘G\/\ fth 3, 4, 5, 6 AN 7 =T ShAST: YT, GO, drerdt, =ieft 3T aierelf T o
SISl SITAT 21 Uil STl 3 3T ST Jet 3A16d 6 150% 314 81 gord

STE] TEAT T 27 A 10

B. 6
C. 14

D. 16
E. None of these @







Question 14- The average of a group of 15 members 1nitially

increases from 60kg to 65 kg when A, B and C join the group. The
weight of A, B and C are 1n the ratio 4 : 3 : 2. What 1s the difference
between weight of A and B?

T 14- A, B 3T C o HHE H IMHA B T AL H 15 YT o Th T8
T 3T 60 ToRIT H @Rt 65 TR &I ST =1 A, B 3T C T 5 4: 3:
2 % ST § &l A 3 B o IS o s1el ohT ST T &2

60 kg
30 kg
90 kg

20 kg
None of these @
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